

Mathematics Invitational
Plant City High School
February 22, 1992
Calculus Team
Answers

1. $3/2 + \tan 1$

2. 5

3. 154

4. $(1+\sqrt{3})/2$

5. $2/\pi$

6. $-3\sqrt{10}/10$

7. $(1/2)\arctan 2(x-1) + c$

8. $-43/3$

9. $\ln 2$

10. -231

11. $35/6 = 5.8\bar{3}$

12. $\sqrt{3}/2 - 1/2$

13. $12/625 \ln 5$

14. 78

15. $1/e$

Calculus Solutions
From 1992 P2AS

1. $A(x) = (\sin x)(\cos x) = \frac{1}{2} \sin 2x$
 $A'(x) = \frac{1}{2} \cdot 2 \cos 2x = \cos 2x$
 $A''(x) = -2 \sin 2x$
 $R(x) = (\sec^2 x)(\cos^2 x) = \frac{\cos^2 x}{\cos^4 x} = \frac{1}{\cos^2 x} = \sec^2 x$
 $R'(x) = 2 \sec x \cdot \sec x \tan x = 2 \sec^2 x \tan x$
 $R''(x) = 2(\sec^2 x \tan^2 x + \sec^4 x) = 2 \sec^2 x (\tan^2 x + \sec^2 x)$

$B(x) = \frac{2}{3} \sin^3 x$
 $B'(x) = \frac{2}{3} \cdot 3 \sin^2 x \cdot \cos x = 2 \sin^2 x \cos x$
 $B''(x) = 2(2 \sin x \cos x \cdot \cos x - \sin^3 x) = 4 \sin x \cos^2 x - 2 \sin^3 x$

$C(x) = A \cos 2x + B \sin 2x$
 $C'(x) = -2A \sin 2x + 2B \cos 2x$
 $C''(x) = -4A \cos 2x - 4B \sin 2x$

$D(x) = x \tan x$
 $D'(x) = \tan x + x \sec^2 x$
 $D''(x) = \sec^2 x + \sec^2 x + 2x \sec^2 x \tan x = 2 \sec^2 x (1 + x \tan x)$

$E(x) = \frac{1}{\sqrt{1-x^2}}$
 $E'(x) = \frac{1}{2} (1-x^2)^{-3/2} \cdot (-2x) = \frac{-x}{(1-x^2)^{3/2}}$
 $E''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} = \frac{-(1-x^2)^{3/2} + 3x^2(1-x^2)^{-1/2}}{(1-x^2)^3}$

$F(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $F'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $F''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

$G(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $G'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $G''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

$H(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $H'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $H''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

$I(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $I'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $I''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

$J(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $J'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $J''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

$K(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $K'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $K''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

$L(x) = \frac{1}{\sqrt{1-x^2}} + \frac{1}{\sqrt{1+x^2}}$
 $L'(x) = \frac{-x}{(1-x^2)^{3/2}} + \frac{x}{(1+x^2)^{3/2}}$
 $L''(x) = \frac{-1(1-x^2)^{3/2} - (-x)(3/2)(1-x^2)^{-1/2}(-2x)}{(1-x^2)^3} + \frac{1(1+x^2)^{3/2} + x(3/2)(1+x^2)^{-1/2}(2x)}{(1+x^2)^3}$

3. $A(x) = \frac{(x-3)(x^2+3x+9)}{(x-9)^2} = \frac{4x^2+3x-27}{(x-9)^2}$
 $A'(x) = \frac{8x+3-2(x-9)(-2)}{(x-9)^3} = \frac{4x^2+3x-27}{(x-9)^3}$
 $A''(x) = \frac{8x+3-2(x-9)(-2)}{(x-9)^4} = \frac{4x^2+3x-27}{(x-9)^4}$

$B(x) = \frac{4 \sin^2 x}{4x} = \frac{\sin^2 x}{x}$
 $B'(x) = \frac{2 \sin x \cos x \cdot x - \sin^2 x}{x^2} = \frac{x \sin 2x - \sin^2 x}{x^2}$
 $B''(x) = \frac{2(\cos 2x \cdot x - \sin 2x) - 2 \sin x \cos x}{x^3} = \frac{2x \cos 2x - 2 \sin 2x - 2 \sin x \cos x}{x^3}$

$C(x) = \frac{1}{x} + \frac{1}{x^2} + \frac{1}{x^3}$
 $C'(x) = -\frac{1}{x^2} - \frac{2}{x^3} - \frac{3}{x^4}$
 $C''(x) = \frac{2}{x^3} + \frac{6}{x^4} + \frac{12}{x^5}$

$D(x) = \frac{1}{x} + \frac{1}{x^2} + \frac{1}{x^3}$
 $D'(x) = -\frac{1}{x^2} - \frac{2}{x^3} - \frac{3}{x^4}$
 $D''(x) = \frac{2}{x^3} + \frac{6}{x^4} + \frac{12}{x^5}$

$E(x) = \frac{1}{x} + \frac{1}{x^2} + \frac{1}{x^3}$
 $E'(x) = -\frac{1}{x^2} - \frac{2}{x^3} - \frac{3}{x^4}$
 $E''(x) = \frac{2}{x^3} + \frac{6}{x^4} + \frac{12}{x^5}$

4. $f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

$f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

$f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

$f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

$f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

$f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

$f(x) = \sin x - \cos x$
 $f'(x) = \cos x + \sin x$
 $f''(x) = -\sin x + \cos x$
 $f'''(x) = -\cos x - \sin x$
 $f^{(4)}(x) = \sin x - \cos x = f(x)$

6. $H = \lim_{x \rightarrow 2} \frac{x^2+1-\sqrt{x}}{x-2} = \frac{5-2}{0} = \frac{3}{0}$
 L'Hôpital's Rule: $\lim_{x \rightarrow 2} \frac{2x - \frac{1}{2\sqrt{x}}}{1} = \frac{4 - \frac{1}{2}}{1} = \frac{7.5}{1} = 7.5$

$B = \lim_{x \rightarrow \infty} \frac{3x+4}{\sqrt{3x^2+5}} = \frac{3}{\sqrt{3}} = \sqrt{3}$
 $C = \lim_{x \rightarrow \infty} \frac{1}{\sqrt{3x^2+5}} = 0$

$D = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $E = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x} = \frac{2}{0}$

$F = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^2} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $G = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^2} = \frac{2}{0}$

$H = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^3} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $I = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^3} = \frac{2}{0}$

$J = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^4} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $K = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^4} = \frac{2}{0}$

$L = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^5} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $M = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^5} = \frac{2}{0}$

$N = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^6} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $O = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^6} = \frac{2}{0}$

$P = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^7} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $Q = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^7} = \frac{2}{0}$

$R = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^8} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $S = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^8} = \frac{2}{0}$

$T = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^9} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $U = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^9} = \frac{2}{0}$

$V = \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x^{10}} = \frac{1 - (-1)}{0} = \frac{2}{0}$
 $W = \lim_{x \rightarrow 0} \frac{e^x + e^{-x}}{x^{10}} = \frac{2}{0}$

1. $A(x) = 2x^2 - 3x + 4$
 $A'(x) = 4x - 3$
 $A''(x) = 4$

2. $B(x) = 4x^2 - 2x + 7$
 $B'(x) = 8x - 2$
 $B''(x) = 8$

3. $C(x) = -2x^2 + 2x + 7$
 $C'(x) = -4x + 2$
 $C''(x) = -4$

4. $D(x) = -4x^2 + 2x + 7$
 $D'(x) = -8x + 2$
 $D''(x) = -8$

5. $E(x) = -4x^2 + 2x + 7$
 $E'(x) = -8x + 2$
 $E''(x) = -8$

6. $F(x) = -4x^2 + 2x + 7$
 $F'(x) = -8x + 2$
 $F''(x) = -8$

7. $G(x) = -4x^2 + 2x + 7$
 $G'(x) = -8x + 2$
 $G''(x) = -8$

8. $H(x) = -4x^2 + 2x + 7$
 $H'(x) = -8x + 2$
 $H''(x) = -8$

9. $I(x) = -4x^2 + 2x + 7$
 $I'(x) = -8x + 2$
 $I''(x) = -8$

10. $J(x) = -4x^2 + 2x + 7$
 $J'(x) = -8x + 2$
 $J''(x) = -8$

11. $K(x) = -4x^2 + 2x + 7$
 $K'(x) = -8x + 2$
 $K''(x) = -8$

12. $L(x) = -4x^2 + 2x + 7$
 $L'(x) = -8x + 2$
 $L''(x) = -8$

8

12. Taylor series for $\frac{\pi}{2}$
 $\int \sin x + \cos x dx$
 $\frac{\pi}{4}$
 $-\cos x + \sin x$
 $-\cos \frac{\pi}{2} + \sin \frac{\pi}{2} = -(-1) + 1 = 2$
 $-\frac{1}{2} + \frac{1}{2} = 0$

10. $f(x) = x^2 - 2x^2 - 15x + 3$
 $f'(x) = 2x - 4x - 15$
 $g(x) = \int \frac{3x^2}{4} dx = \frac{3}{4} \cdot \frac{x^3}{3} = \frac{x^3}{4}$
 $g(2) = \frac{2^3}{4} = 1$
 $f'(3) = 3 - 12 - 15 = -24$
 $g(2) = \frac{8}{4} = 2$

11. $f(x) = x^3 - 15x^2 + 3x^2 - 24x + 59$
 $f'(x) = 3x^2 - 30x + 6$
 $f'(2) = 12 - 60 + 6 = -42$
 $f(2) = 8 - 60 + 12 - 48 + 59 = 11$
 $f(3) = 27 - 135 + 27 - 72 + 59 = -21$

13. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

14. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

15. $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

16. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

17. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

18. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

19. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

20. $f(x) = x^2 - 2x^2 - 15x + 3$
 $f'(x) = 2x - 4x - 15$
 $g(x) = \int \frac{3x^2}{4} dx = \frac{x^3}{4}$
 $g(2) = \frac{8}{4} = 2$
 $f'(3) = 3 - 12 - 15 = -24$
 $g(2) = \frac{8}{4} = 2$

21. $f(x) = x^3 - 15x^2 + 3x^2 - 24x + 59$
 $f'(x) = 3x^2 - 30x + 6$
 $f'(2) = 12 - 60 + 6 = -42$
 $f(2) = 8 - 60 + 12 - 48 + 59 = 11$
 $f(3) = 27 - 135 + 27 - 72 + 59 = -21$

22. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

23. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

24. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

25. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

26. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

27. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

28. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

29. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

30. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

31. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

32. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$

33. $\int_0^2 5 dx$
 $5x \Big|_0^2 = 10$
 $\int_0^2 4 du$
 $4u \Big|_0^2 = 8$
 $\int_0^2 \frac{e^x - 1}{e^x} dx$
 $\int_0^2 (1 - e^{-x}) dx$
 $x + e^{-x} \Big|_0^2 = 2 + e^{-2} - 0 - 1 = 1 + e^{-2}$